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SECTION-A / WF-31

An element X has a valency 3. Write the formula of its oxide.

Sl g T TOSIEdT 3 ¥, oud eTause T A fatene)

Name one mammal that lays eggs.

o 23 9el T WAl @1 AW fafa )

Name a gas mainly responsible fox global warming.

3Ry STl F el T w9 O Soerdl T w1 A fafea

Salect the odd one out with respect to classification. Also give reason for your
choice.

(a) Mango, Gram, Ric, Ap e
(b) Prawn, Scorjpion Lk 3. 5wt

AT 3 T % s W TreETeE o O o 9 g S = % feng s off
fafau |

(a) T, =1, O, A9

(b) =fim, foreg, sifeRiaw, faaed

-

List four diseases for which vaccines have been developed.

o1 = il R g e fords % fefad e s s ¥

When we stand on loose sand, our feet go deep into the sand. But when we lie down
on the sand our body does not go that deep in the sand. Why ?

S B el Yo 9T @ B ¥, e A | T ek o A ¥ 1| ARET SO T @ WA €
TR ST I TRl T Swd € w4l 2

A box of about 10kg is placéd at a point A on a horizontal surface. It is raied to a
point B which is at a distance of 2m above A. Find the work done against by the

force of gravity on the box. Justify your answer. (g = 10 m/s’)

ATV 10 kg FATH B HIg SAlHH fipdt st 9 ¥ g A W@ ¥ W A W 2m
S R Teors foret famg B a9 SE/I1 SR § 1 7, W 1F 96 T ey W fem T wE Fd
T (g = 10 m/s")

Calculate the number of Aluminium ions in 0.051z of AlyO3. (Atomic mass of
(Al = 27u, O =16u No=6.022 X 10” mol ~ 1

0.051g AlpOz A YAl ST el et & gfieser i |

(Al = 27u, O=16u, No = 6.022 x 107 Hitrirer)
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10.

11.

12.

13.

14,

1D,

Write the three conclusions of Rutherford’s a-particle scattering experiment.

r«nﬁé%armwuaﬁvhmﬁn%?ﬁﬂufmnmm

Identify 2 pairs of elements that will have similar chemical properties. Write the
relation between these elements.

18A 4OB 16C 40X 20Y
g a8 8™ 207 107
aﬁ%ﬂmm@ﬁﬁmm@awa%saaaﬁﬁﬁ“eimﬁﬁwﬁaqn

18 40., 16,~ 40, 20
3A 18B 8C 20X lUY'

Distinguish between :

(@) Monera and Protista on the basis of nucleus.

(b)  Fungiand Plantae on the basis of mode of nutrition.
(€) Gymnosperms and Angiosperms on the basis of seeds.
e SAIRY, :

(a) e % SMUR W RIAT e et §

(b) rgu] 3 SR T EeE e it §

(c) @Sl & SR W fermread e dfsdreed o

What do you understand by the term ‘naked embryo’ ? Name any two divisions in
kingdom ‘Plantae’ that have naked embryo. Give one example of each division.

T o1 Y 3 ) W €2 ey e 3 Feeel g1t wh e wr Faeds e
901 YT, ST § 1 el o ol WEh- TR SareRol fafa

“It is difficult to make antiviral medicines than making antibiotics “Justify this
statement. ‘

gt et s GEeERIad atvafu 3 AT @ oTdEn HoA B! $H HA 6
gt i

Define relative density of a substance. Relative density of silver is 10.8. The density of
water is 1000 kgm 2. What is the density of silver in SI units ?
Rl e ¥ s s @ afenfi sfng =i W endfis I 10.8 21 SR

Y 1000 kg ™3 | T W § wid) S TS w0 8?

A body of mass 5 kg ie thrown vertically upwards with a speed of 10m /s. Whatis its
kinetic energy when it is thrown ? Fird its potential energy when it reaches at the
highest point. Also find the maximum height attained by the body. (g=10 m/s”)

5 kg FoAATA & foelt fiuz 10 m/s N T A A HT T S ) HF S Y
fyog = s oo @ @ 7 e Tag W o five oY feafos oot o 2l soan fog
i Fa off TR EAED R (g=10m/ sz) '

Page 3 of 13



A 1(1'.

17,

18.

19.

20.

When do we say that the work done is negative ? Certain force acting on a 20Kg
mass changes its velocity from 5 m/s to 2 m/s. Find the work done by the force.

7% &9 Ha HEd § fF e T FH IS B 20 Kg 1 fareh oeg T T e 9

. TEEH U R 5m/s 2 m/s F Tl e g T T i g S

What are ultrasonic waves ? Name one animal which emits ultrasonic waves and

how does it use the waves ? What is the role of ultrasonic waves in medical
science ?

ety @l 90 i €7 W g T ﬁﬁfmﬁwmﬁmm%amaﬁwaﬁ
1 98T g YR R 2 Fafrea 3% & T TR ahil o SR §?

(@) How is soil formed ?
(b) What is soil erosion ? write two steps to control soil erosion.

(a) Ty <1 Frafon R T B @ 2
(b) VT STOEA HR? sRed @1 A & i <= fatae

List the causes that affect the life forms that are found in water bodies in various

ways. Name the element present in coal other than carbon that releases harmful.
gases during combustion of coal.

STETRT B AT ST A Sl 3 FeH Frfarst W & Wonfod W SY RIS Y
AT | mﬁmmﬁmﬁﬁ%ﬁ@mmwﬁmﬁaﬁnﬂ% G|
R eifveRa o sl Fa R

(1) What do the following symbols fornulae stand for :

@ 20 ¥ Oz © O3 (@ HO
(it) Give the chemical formulae of the following compounds :
(@) Potassium Carbonate (b) Calcium chloride

(i)  Calculate the formulae unit mass of Alp (SO4)3

(Given atomic mass of Al - 27u, S - 32, O - 16v)
@ el s g3 w0 i ?:

(@) 20 b - O, asEe ) - LD
@y Frefated it ¥ warafs g3 fafe
(@)  TrefReH e by e sEs

(i) Al (SO4)3 1 T THik oM fiafoa R
(e & - AL QI SAHIA 274, S = 32u, O = 16u)

OR/TTET
(i) Write the chemical symbols of two elemznts
(@) which are formed from the first letter of the elements’ name.
(b) whose name has been taken from the namies of the elements in Latin

W
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(b)

Define Avogadro’s constant and molar mass. How are they related to ¢ne
mole of an atom, molecule, or ion 2

=1 Q) aeal ¥ wEratye wdes fafey -

(a) S\ 9 T % Tea 27 ¥ T €

(b) s = A S At % A A fog T e

AT Fearis aen W geauE w1 ufeafia wifg F ey, 370) SN ST 0
ol A fiFg geR grated €2

List any two main features of chordates.
Name the class of vertebrates which have the following characteristics.

® Animals have streamlined body and gills for breathing.
(ii) Animals are found both on land and in water.

(ii)  Animals have mammary glands for the production of milk to
nourish their young ones.

=9l T U SR AR e o ason fafae
aﬁ?‘f@??ﬁﬁ’f#ﬁﬁﬂﬁﬁﬂﬂﬁ?@ﬁﬁﬁtﬁﬁf@a'a&mqrqeiﬁ%x
(i) Rl s Yy 2 ¥ otk veree e 3 R Sl Wi ST €
(if) et i e S 9% T8 Tahd )
Gif)  ToTE & e % fa g siferaf Ui Sl 2 |

ORyuEaT

¥lat worm is the common name given to organisms of which phylum of
xingdom - Animalia 7

Write one example of a parasite belonging to this phylum.

Explain the following terms -

(a) notochord

{b) triploblastic body

(c) bilaterally symmetrical

dig =aa ¥ s e & wigell W uwe FwE it o oAl ¥ §E HRAH A
T | ' |

0 R ¥ U TEE GG a3 Ehe

et = aeta s -

(a) Btk

(by T vl

©  Temdesifm

Dofine power. Two boys A and B do the same work in 5 minutes and 6
minufes respectively. Which of the two has more power and why ?

Derive an expression for the kinetic energy ot a mov ing object.

s ) afovs fabaw) R ®e A Qo A 9 B w5 916 FrR F i ¥
gri] q Rave) iR sy @ ol e ?

forxy nfawr froz =it wiws sl & fag wrSTeR Sgeds eI |
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